# TFP Calculotors : Pension vs LISA

All details are input in Light Blue boxes

1. Input details of client;

* Name

*Taxpayer status

+ Select current income tax rate

» Age Next Birthday

* Retirement Age

» Expected income tax rate at Ret

2. Input Annual Contribution, and

. Select whether pension to be paid i s 4,000 iﬁ MET FUND VALUE
via salary sacrifice. = =
« If Yes, select whether Employer’s Zalary sacrifice® i
NI saving to be paid to pension Ef i to pengion® | 10 » | At age 1] -] i) 75
1
3. Select whether ISA fund will be i i A | e v | weTrension | Ew3Tee | | meemess | | emerrany | | esenamem |

subject to IHT

£192 51855 £245,708.32 £313.889.13 £400,228.08
4. Input expect net growth rate, and higt growth res Lifetione 13A

Inflation rate, and select whether to
show figures in today’s value.

450,000
200 004
150 000
309 ot
250, 000
B Frnaacn
200 000 B LISA

153 000
100, 000

53,000

= = L n o & o & & A 4y 4T 4R 4




